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Note: English version of the instructions is printed on the back cover of this Question Booklet. 
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F2222:z2222::221 



1. Who is the author of the book Daughter of the 

[A] 

East"? 

(a) Ms. Aung San Suu Kyi 
(b) Ms. Benazir Bhutto 

(C) Ms. Taslima Nasrin 

(d) Ms. Sirimavo Bandaranaike 

Match List-I with List-II and select the correct 

answer using the code given below the lists -

List-I 

(Writer) 
(A) Yashpal 
(B) Kamleshwar 
(C) Bhisham Sahni 
(D) Surendra Verma 

Code 
(a) A-(1), B-(2), C-(3), D-(4) 

matched? 

(b) A-(2), B-(4), C-(1), D-(3) 

List-I 

(c) A-(4), B-(3), C-(2), D-(1) 

(Book) 

(d) A-(3), B-(2), C-(4), D-(1) 

(a) Indira Gandhi : 

3. Which one of the following is correctly 

Tryst with Power 
(b) The India Way: 

Strategies for an 
Uncertain World 

(c) Half Lion : How 
P.V. Narsimha Rao 

Transformed India 
(d) Jugalbandi : The 

List-II 

BJP Before Modi 

(Books) 
1. Tamas 

(a) Banabhatta 

2. Meri Teri Uski Baat 

(b) Kalhana 

3. Mujhe Chaand Chahiye 

4. Kitne Pakistan 

(c) Vikramaditya 
(d) Shudraka 

List-II 

(Author) 
Nayantara 
Sahgal 

4. The book "Mrichchakatika" was written by -

Shri 

Dharmendra 
Pradhan 

Sanjay Baru 

- Ravish Kumar 
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4. 

(A) YIT 
(B) HCar 
(C) fro HISAI 

(a) A-(1), B-(2), C-(3), D-(4) 
(b) A-(2), B-(4), C-(1), D-(3) 

er A-(4), B-(3), C-(2), D-(1) 

(fora) 

(d) A-(3), B-(2), C-(4), D-(1) 

1. THH 

4. fht qfvarT 

(a) sfT TeT:^E 

(b) s:eg 

favtr 
(a) gte: . 

(a) qrure 
(b) pEU 

(rea) 



D. Which one of the following statement 1S Correct 

with reference to the author of "Straight from the 

Heart: An Autobiography"? 
1. Sachin Tendulkar 

[AJ 

2. Kapil Dev 
Select the correct answer using the code given 

below: 

(a) Only 1 
(b) Only 2 
(c) Both l and 2 

(d) Neither 1 nor 2 

O. UIDAI is a statutory authority established to 
issue "Aadhar'. UIDAI stands for -

(a) Bharat Udai Yojana 
(b) Unique ldentification Authority of India 
(C) Unique Identification Data Authority of India 
(d) Unique Integrated Development Authority of 

India 

7. FEMA' stands for -

(a) Fund Exchange Management Act, 1999 
(b) Fund Exit Management Act, 1999 

(©) Foreign Exchange Management Act, 1999 
(d) Foreign Exit Management Act, 1999 

8. NASSCOM is an Indian non-profit, Non 

Governmental Trade Association, focused 
mainly on the Technology Industry of India. 
NASSCOM stands for -

(a) National Association of Software and Service 

Corporations 
(b) National Association of Software and 

Security Compänies 
(c)National Association of System and Software 

Companies 
(d) National Association of Software and Service 

Companies 
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1. fa tgAor 
2. aft t4 

(a) ai 1 

(b) oad 2 

(d) l A 2 

() Rts fafre yótpt faorH yftrhyU 

(a) pug yMiT AToe ya
, 1999 
(b) 5ug yfe e ye, 1999 

(d) orT ftuc Hc YGC, 1999 

(d) 



9. MOM also known as 
Mangalyaan, iS a space 

mission launched by the Indian Späce Research 

& Organisation. Its 
objective is to explore Mars 

[AJ 

surface features, 
morphology, 

mineralogy 

martian atmosphere. What does 'MOM" stand 

for? 

(a) Mars Orbiter Mission 

(b) Mission of Mars 

(c) Mars Orbiting Mission 

(d) Mission Orbit Mars 

10. IFSC' stands for -

(a) Indian Financial Service Code 

(b) Indian Financial System Code 

) Indian Financial System Corporation 

) Indian Financial Service Corporation 

Who was the Commentator of Manusmriti? 

(a) Kulluk Bhatt 

(b) Mahadev 
(c) Rakshit 

(d) Mahendra 

12. When did the Battle of Khanwa took place? 

(a) 16th March. 1528 

(b) 15th March, 1527 
(c) 15th March, 1529 
(d) 16h March, 1527 

13. What was the main reason behind Moplah 
Rebellion in 1921? 

() Exploitation of Moplah's by Zamindars. 
(II) British Government policies against 

Khilafat. 
Select the correct answer using the code given below -

Code -

(a) Only I 
(b) Both I and II 

(c) Only II 
(d) Neither I nor II 
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(a) 4 3fder frT 

(c) Hf 3fafe fART 

(b) 4ET¢T 
(c) vfara 

va 16 4T, 1528 
(b) 15 HT, 1527 
(c) 15 H12, 1529 
(d) 16 HI, 1527 

(b) Iyd II 
(c) hqa II 

(d) 7 I II 



1 Given below are two statements, one isS labelled 
as Assertion (A) and other as Reason (R) -

ASSertion (A): The idea of the name of Pakistan 

was suggested by Rahmat Ali. 

Reason (R): Rahmat Ali published a book Now 
or Never' in 1933. 

Select the correct answer using the code given 
below : 

Code. 

[A] 

(e) Both (A) and (R) are true and (R) is the 
correct explanation of (A) 

(9) Both (A) and (R) are true but (R) is not the 
Correct explanation of (A) 

(C) (A) is true but (R) is false 
(d) (A) is false but (R) is true 

13. Match List-I with List-II and select the correct 
answer using the code given below -

List-I 

(A) Gedrosia 

(B) Arachosia 

(C) Aria 

(D) Paropamisadae 

Code 

List-II 

1, Herat 

(a) A-(4), B-(3), C-(1), D-(2) 

(a) Reflection of light 

2. Balochistan 

(b) A-(1), B-(2), C-(4), D-(3) 

(b) Refraction of light 

3. Kabul Valley 

(c) A-(2), B-(4), C-(1), D-(3) 

(c) Dispersion of light 

4. Kandhar 

(d) A-(3), B-(1), C-{2), D-(4) 
16. When the sun is near the horizon during the 

morning or evening, it appears reddish. The 
phenomenon that is responsible for this 
observation is 

(d) Scattering of light 

,eA) 3str (R) I1d HY 0R (R), (A) HÁ 
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(b) (A) s0r (R) 00 HU� fg (R), (A) i HÀT 

(c) (A) HY fh (R) TeG+ 

(d) (A) TG f (R) HY 

(A) tsiI 
(B) RTHIÍNT 

(C) yRUT 
(D) YRyfAT 

2. aoarir 
3. gG 
4. hBR 

eA-(4), B-(3), C-(1), D-(2) 
(b) A-(1), B-(2), C-(4), D-(3) 
(c) A-(2), B-(4), C-(1), D-(3) 
(d) A-(3), B-(1), C-(2), D-(4) 



17. What is the approximate percentage of carbon in 

the Earth's crust? 
(a) 0.045% 
(b) 0.0259% 
(c) 0.015% 

(d) 0.0059% 

18 The disease rickets develops in children due to 

the deficiency of -
(a) Vitamin C 

(b) Vitamin D 

(c) Vitamin A 
(d) Vitamin B 

3. Which one of the following acid is secreted by 

leaves of Nettle that causes painful stings? 

(a) Methanoic acid 

(b) Citric acid 
(c) Tartaric acid 
(d) Acetic acid 

20. Match List-I (Inventions) with List-II 

(nventors) and select the correct answer from 
the code given below -

List-I 

(A) Cosmic rays 
(B) X-rays 
(C) Radioactivity 
(D) Artificial radioactivity 

List-II 

1.I. Curie & F. Joliot 
2. Victor Hess 

3. W.C. Roentgen 
4. Henri Becquerel 
Code 

(a) A-(4), B-(3), C-(1), D-(2) (b) A-(2), B-(3), C-{4), D-1) (c) A-(2), B-{4), C-<(1), D-(3) (d) A-(1), B-(3), C-{2), D-(4) 
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17. yed qyst T 

(a) 0.045% 

(b) 0.025% 

(c) 0.015% 

vero005% 
18. qat HaT 

(a) faefC 

(c) faerfiA 

(d) faerfB 

(a) ish 4-1 

(B) X-faru 
(C) st HbyGT 

2. faertH 

(a) A-(4), B-(3), C-(1), D-(2) 
(b) A-(2), B-(3), C-(4), D-(1) 
(o) A-2), B-(4), C-(1), D-(3) 

^A-(1), B-(3), C-(2), D(4) 



21. Match List-I with List-II and select the corect 

answer using the code given below the lists -

List-I 
(Place) 

(A) Khetri 
(B) Renukoot 

[A] 

(C) Salem 
(D) Surat 
Code -

(a) A-(4), B-(3), C-(1), D-(2) 

(a) Red soil 

(b) A-(2), B-(1), C-{4), D-(3) 

(b) Laterite soil 

(C) A-(3), B-(2), C-(1), D-(4) 

(c) Black soil 

(@) A-(1), B-(4), C-(3), D-(2) 
2 Leaching of soil is related to -

(d) Alluvial soil 

twice? 

(a) Narmada 

(b) Sabarmati 

23. Which river of ndia passes the Tropic of Cancer 

(c) Mahi 
(d) Luni 

(a) Kaimur hills 

List-II 

(Industry) 

(b) Amsot peak 

1. Cotton textile 
2. Diamond cutting 

24. Which one from the following is the highest 
point in Utar Pradesh? 

(c) Sonpar hills 

3. Aluminium 

(d) None of the above 

4. Copper 

25. Consider the following statements : 

(a) Only 1 
(b) Bothl and 2 

1. Project Tiger was launched by the Govt. of 
India in the year 1973. 

(c) Only 2 

2. Total Tiger Reserves of India (as on January 

2023) are 53. 

(d) Neither 1 nor 2 

Select the correct answer from the code given 

below -

21. 

(A) tst 
(B) yd 
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(C) tH 

(a) l fst 

(a) A-(4), B-(3), C-(1), D-(2) 

(a) T 

(b) A-(2), B-(1), C-(4), D-(3) 

() A-(3), B-(2), C-(1), D-(4) o 
UeYA-(1), B-(4), C-(3), D-(2) 

22. ft freT HeT 

(c) T 

(4) qft 

(a) YEfgut 

(c) T9R ygifsud 

(rer) 

2. s ofT 

2023 T#) 53I 

3. yoytftTH 

(a) aa 1 

4. iaT 

1973 1 ef| 

(c) a 2 



26. Consider the following statements and select the 

correct answer from the code given below -

[AJ 

ASSertion (A) -The Constitution of India 

provides for a Federal System. 

Keason (R) -It has created a very strong centre. 

Code -

( Both (A) and (R) are true and (R) is correct 

explanation of (A) 

() Both (A) and (R) are true but (R) is not 'he 

correct explanation of (A) 

(©) (A) is true but (R) is false 

(@) (A) is false but (R) is true 

27. -Arrange the following stages in the Enactment 

Budget in proper order 
(1) General discussion 

(2) Appropriation Bill 
(3) Finance Bill 

(4) Voting of the demands for grant 

(5) Presentation to Legislature 

(a) 1, 2, 3, 4, 5 

(b) 5, 1, 4, 2, 3 

(c) 5, 1, 4, 3, 2 

(d) 5, 1, 3, 4; 2 

with the suability of the State of India? 

(a) Article 100 

698656 

28. Which Article of the Indian Constitution dezls 

(b) Article 200 

(c) Article 300 

696656 

(d) Article 330 

696656 

696B6 
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26. fff FYt ye far 

IRUT (R) � 

(b) (A) 3ìr (R) 0 H qeg (R), (A) 

(c) (A) HEI 

(d) (A) TAT 

(1) 3ATA SH 

(2) fafiT fa 

(3) farr faerys 

(a) 1, 2, 3, 4, 5 

(b5, 1, 4, 2, 3 
(c) 5, 1, 4, 3, 2 

(5) fanfanT Vgrpror 

(d) 5, 1, 3, 4, 2 

(a) g 100 
(b) 3g< 200 
(c) gt� 300 

YT 

ves gar 330 

R) eT 

TRT (R) H¥T 



29. Under which Veto, the President of India can 

keep a Bill for an indefinite pernod? 
(a) Absolute Veto 

(b) Regular Veto 
(c) Pocket Veto 

[A] 

(d) Suspension Veto 
30. Which one of the following pairs is not correctly g0. HNG fuTT 340G 240 3fa 

matched in terms of the power of the President 
of lndia to make Regulation for certain Union 
Territories under Article 240 of the Indian 
Constitution? 
(2) 240 (1Xa)- Andaman and Nicobar Islands 
(b) 240 (1l)(b) -Lakshadweep (c) 240 (1)(c) - Puducherry 
(d) 240 (1)(d) - Daman and Diu 

31. Grand Slam' is related to which one among the 
following games? 
(a) Lawn Tennis 

(b) Badminton 

(c) Volleyball 
(d) Rugby 

32. Thomas Cup' is related to which one among the 

following games? 
(a) Cricket 

(b) Hockey 
(c) Badminton 

(d) Volleyball 

33. Which country won first T-20 Cricket World 

Cup in 2007? 

(a) West Indies 

(b) Australia 

(c) New Zealand 

(d) India 

(a) qof fet 
(b) fAuft �t 

Lù (a) 240 (1 Xa) -3GHT Yd fhAR Ay 

O (b) 240 (1)(b) -AEy 
O (0) 240 (1)(c) -yER0 

696656 
et 240 (1)d) -H7 sÌr ta 
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(a) af fT 

(b) sfteA 

(c) atefat 

O (a) fboe 

(c) sfc 
(d) aicsi 

33. aÉ 2007 fb ye t20 fhcbc fayg 

(a) re grs 

(b) sirfrT 

(e) uiters 



34, Who among the following is an International 

shooting player? 
(0 Anjum Moudgil 

(b) Manju Rani 

[AJ 

(c) L. Sarita Devi 

(d) Jamuna Boro 

35. Who is the first Indian woman to win an Asian 

Game gold in 400 meter race? 

(a) Sania Mirza 

(b) P.T. Usha 

(c) Kamaljeet Sandhu 

(0) Manpreet Singh 

0 Who inaugurated new 'Parliament House' of 

India? 

(a) President of India 

(b) Speaker of Lok Sabha 
(c) Prime Minister of India 

(d) Home Minister of India 

37. Consider the following statements with 

reference to the Konark Sun Temple -

(1) It is also referred to as the Black Pagoda. 

(2) It was built by King Narasimhadeva I. 
(3) It is a UNESCO World Heritage Site, 

Which of the statements given above are correct? 
(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1,2 and 3 

34. Pffya 

(a) 3g4 
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(b) 4o 

35. uRITA 400 tr s 

(a) fr fAuf 

(b) .ci. Go9I 

(d) 4-a fie 

(b) teoT THYfA 

(b) d 1 3r 3 

(c) ad 2 3t 3 

(d) 1, 2 3r 3 



38. Right to Information Act, 2005 primarily helps 

the cause of -

(a) Legal Reform 

() Transparent Administration 

(c) Political Reforms 

[AJ 

(d) Social Integrity. 
39. Where is 'Akbar's s Tomb' located in India? 

(a) Ghaziabad 

(b) Agra 
(c) Gautambuddha Nagar 

(a) Prayagraj 

40. Where is 'Golconda Fort' located in India'? 

(a) Telangana 

(b) Rajasthan 

(c) Delhi 

(d) Punjab 

41. By which one of the following Amendments the 

Lok Sabha seats were raised from 525 to 545? 

(a) 56th Amendment 

(b) 42nd Amendment 

(c) 31 Amendment 

(d) 35th Amendment 

42. India is situated at which place in World Press 

Freedom Index -2023? 

(a) 161 

(b) 135 

(c) 141 

(d) 134 

38. 
2005 T: foH 

(a) 1t gurR 
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(d) HHI 3qUGGI 

(a) TfeIG 

(c) crHq R 

(d) yrRIG 

(b) I 

(c) fof 

(d) ylg 


 525 545 4GIs Ts? 

(a) 56a NT 

(c) 31d nE 

(d) 35di iy 

42. farg H FAG0ATI HUoio - 2023 4RG H 

Le161 
(b) 135 

(c) 141 

(d) 134 



43.The cyclone 'Biparjoy' is related to which Sea? 

(a) Arabian Sea 

[AJ 

(b) Indian Ocean 

(c) Black Sea 
(d) Yellow Sea 

On which date World Youth Skills Day' is 

celebrated? 

(a) 15 July 

(b) 26 January 
(c) 15 March 

(d) 15 August 

. Chandrayaan -3: India's Mission to Soft-Land 

on the Moon's South Pole was launched on 

which date? 

(a) 14 June, 2023 

(b) 14 July, 2023 
(c) 15 July, 2023 

(d) 16 July, 2023 

46. Consider the following statements regarding 
Hindi Diwas' -

(1) Hindi Diwas or National Hindi Day is 

celebrated every year in India on September 
4th 

(2) Article 351 pertains to the Directive for 
Development of Hindi Language'. 

Which of the statement/s given above is/are 
correct? 

(a) Only 1 

(b) Only 2 
(c) Both 1 and 2 

(d) Neither 1 nor 2 

43. fauruiT ThT T HeT 

(b) fG HSIHIR 

(c) ploT HITR 
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(d) ýlT HTR 

44. fagq yaT 

? 

(a) 15 yI 
(b) 26 GaT 

(d) 15 3TVT 

45. gYT 3: HT 

(a) 14 y, 2023 

b4 qars, 2023 
(
) 15 Is, 2023 

(d) 16 yoIÉ, 2023 

HET ? 
(a) ha 1 

(b) oqd 2 



47. Speed of A is twice that of B and speed of B is 

thrice that of C. If C COvers a distance in 

48 minutes, the sanme distance will be covered by 

B in how much time? 

[AJ 

(a) 12 minutes 

(b) 14 minutes 

(c) 16 minutes 

() 18 minutes 

A person bought an aticle for R 784 which 

included GST of 12%. What is the price of the 
article before GST was added? 

(a) 685 

(b)690 
(c)695 
(d) 700 

49. Which among 22, 33, 66 and 1212 is the largest 
number? 

(a) ; 

(b) 35 

(c) 6 

(d) 122 
50. If 10 men or 20 boys can make 260 mats in 

20 days, then how many mats will be made by 
8 men and 8 boys in 20 days? 

(a) 260 

1 1 

(b) 280 

(c) 286 

(d) 312 

47. A aa B qli Ì 00 qT B 

48. 

(a) 12 fA-E 

(b) 14 fe 
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(d) 18 fe 

(a) 685 

(b) 690 

(c) 695 

49. 2, 35, 6Õ TeT 122 q HT 
1 

(a) 2i 

(b) 3 

(c) 6 

Lto 12a 

50. 3r 10 341GÎ yat 20 Hso 20 ft 

(a) 260 

(b) 280 

(c) 286 



52. iata �Ê HH-f ya -

(a) 

(a) 

(c) 

(c) 

(c) 

(a) 

(c) 

(c) 

(a) 

57. gÀ ÍeY TÈT -

(c) 

(b) 

(d) 

(b) 

(b) 

(d) 

(d) 

(d) 

(b) 

(d) 

(d) 
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31514 



(a) 

[A] 

(c) 

(a) 

(c) 

(a) 

(c) 

(d) 

61. Reminder 1 f ef ET � 
(a 

(a) 

(c) 

(a) 

(c) 

(1) tr (3) 

(a) 

(3) 3ir (4) (d 

(d) 

(b) 

(d) 

(d) 

(d) 

(b) 

(d) 

(b) 
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(2) 3it (3) 
(2) str (1) 



67. 

68. " 

69, 

70. 

(a) 

[AJ 

(c) 

(C) 

(a) 

(c) 

(A) a 

(D) H R 

(a) 

(a) 

(a) 

(c) 

A-B-(4), CI), D-2) 
A-(3DB-(1), C-{4), D-(2) 

(A) YT41 alc 

(B) 3 z4 
(C) AT Ty 

(c) 
A-(2), B-(4), C-{1), D-(3) 

A-(4), B(2), C-{1), D-(3) 

() ic0aF 
(2) 4Er 
Y3) Grty 

(4) 341c 

43) faYaTAy 
N4) yc 

(b) 

(d) 

(b) 

(d) 

(b) 

(d) 

(b) 

(d) 

(b) 
(d) 
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A-(1), B-(3), C-2), D-(4) 
A-(4), B-(3), C-(1), D-(2) 

A-(3), B-(1), C-(2), D-(4) 
A-(1), B-(4), C-2), D-(3) 



[AJ 

(a) 

(c) 

(a) 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(c) 

A. qHog 
B. ynffs 

C. gi. 
D. grfi. 

(a) 

(yafa) 
1. ypfi 
2.JSII 
-3. fazG 

(A)4, (B)-3, (C)-1, (D)-2 

(A)-4, (B)-1, (C)-2, (D)-3 

(b) 
(d) 

CO (b) 

696656 

696656 

(9) 

(d) 

(d) 

(d) 

(b) 

LÓ (b) 

(b) 
(d) 
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(A)-1, (B)-2, (C)-3, (D)-4 
(A)-2, (B)-3, (C)-4, (D)-1 



6: 

67 

69 

71 

7% 

75 

74 

[AJ 

87 

(a) 
(c) 

A. 30ycoR 
B. g¢ 
C. H 
D. AH. 

(a) 

a 

(c) 

(c) 

a) 

(c) 

(c) 

(a) 

2. 

1. rar 

(A)-2, (B)-3, (C)-4, (D)-1 

(AJ-3, (B)-2, (C)-1, (D)-4 

4. fd 

1,2 
1,3 

Polyploidy 
Postpone 

A. Record 
B. Tension -

C. Sample 

2. a1a 
3. faG 

D. Uncertain 

4. yOTT 

A. 
2. sfPrrg 
3. 
-4. 3fag 

r. (A)-2, (B)-3, (C)-1, (D)-4 

(A-2, (B)-3, (C)-4, (D)-1 

(b) 

(d) 

(d) 

(b) 

(b) 
(d). 

(b) 
(d) 

(b) 

(d) 
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(A)-4, (B)-3, (C)-2, (D)-1 

(A)-1, (B)-4, (C)-2, (D)-3 

2,3 
2,4 

Pomology 
Polygamy 

(AJ-1, (B)-2, (C)-4, (D)-3 

(A-1, (B)-4, (C)-3, (D)-2 



No Disposal 
(c) 

94. Defacto 

(c) 

(c) 

Le 

(c) 

B. 

A. 4s 

(a) 

C. $H 

(c) 

Sanction 

D. fAUU 

(a) 

(a) 

Invoke 

(c) 

Invoice 

(c) 

(d e) 

Printer 

Country 

Package 

2. Cottage 
3. Control 

(A)-1, (B)-2, (C-3, (D)-4 

A. Captain 

(A)-3, (B)-1, (C)-2. (D)-4 A 

100. Face Value' I f get sT 

(b) 

(d) Occupation 

(b) 

(d) 

(b) 

(d) 

(b) 

(d) 

(d) 

(b) 

1 (A)-2, (B)-1, (C)-4, (D)-3 

(d) 

(d) 

Approval 

(b) 

(d) 

Inward 

1 er utput 
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Invite 

(AJ-4, (B)-2, (C)-1, (D)-3 

Software 
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101. What is an Operating System? 

(@) System Software 

102. Which of the following is used to convert from 

(b) Application Software 
(c) Hardware 

(d) Peripherals 

Upper case to lower case and vice versa? 

(a) Upper case 
(b) Lower case 

(c) Sentence case 

(d) Toggle case 

103. Which one of the following group contains 

graphical file extensions? 

(a) JPG, CPX, GCM 

(b) GIF, TCE, WMF 

(c) TCP, JPG, BMP 

(cYTPG, GIF, BMP 

i) 

104. What is the decimal equivalent of the binary 
number 10111? 

(a) 21 

(ii) 

(b) 39 

(c) 42 

(d) 23 

(iv) 

105. Which of these are hardware components of a 

(ii) 

computer system? 
Input device 
Output device 
Device driver 

Central Processing Unit 
(a) (1), (ii), (ii) 
(b) (1), (ii), (iv) 
(c) (i), (iii), (iv) 
(d) (ü), (ii), (iv) 
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(b) yftoIT HTYCQU 

(c) gISQYR 

102. fefya fhycaT 

(b) iBr H 

103. ffgG 

(a) v., f.�iyi., st.s gH. 

(a) 21 

(b) 39 

(c) 42 

(ii) 

(ii) 

(a) (i), (ii), (ii) 
woi), (), (iv) 
(c) (0), (iiü), (iv) 
(d) (ii), (i), (iv) 



106. Which shortcut key is used to copy and paste a 

file folder? 

110. 

(a) Ctrl+X and Ctrl+V 

111. 

[A] 

(b) Ctrl+A and Ctrl+V 

107. The order of files and directories in Windows 

(c) Ctrl+Z and Ctrl+V 

(d) Ctrl+C and Ctrl+V 

Explorer is -

(a) Sequentially 
(b) Hierarchically 

108. Which shortcut key is used to refresh Windows 

(c) Serially 

U Alphabetically 

desktop? 
(a) F2 
(b) F3 

109. What is the full form of USB port? 

(c) F4. 
(d) FS 

(a) Uniform Serial Bus 

(b) Universal System Bus 
(c) Universal Serial Bus 

(d) Uniform System Bus 

(a) Paint 

(b) Word 

(C) Accessories 

(d) None of these 

Internet. 

(a) HTTP 

(b) Router 

(c) Bridge 
(d) Switch 

is a program group. 

is a device to connect LAN to 

(a) Ctrl+X r Crl+V 

(b) Ctrl+A sÌT Ctrl+V 

(c) Ctrl+Z 3Ìr Ctrl+V 

1eYCtrl+C atr Ctrl+V 

(a) safc5 4 

(b) ruftgG YÀ 

(c) 0H14R 

110. 
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(a) F2 

(b) F3 
(c) F4 

(a) te 

(b) q 

(c) yertutH 

111. LAN) Srie igt YGRU 

(a) qactA. 

(b) IGCR 

(c) far 
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112. The tool using which predefined actions which 

Can automate tasks on an MS Access report is 

called -

(a) Form 
(b) Macros 

(c) Fields 

(d) Table 

73. In MS Excel. the cell reference for a range of 

cells that starts in cell Al and goes over to E and 

down to row 20 is -

(a) A1 -E20 

(b) A1: E20 

(c) Al; E20 
(d) A1.E20 

T14. What is the correct location of function library in 

Excel sheet? 

(a) View> Function 

(b) Insert > Function 

(c) Formal > Function 

(d) Formulas > Function 

115. In MS Excel, concatenation of text can be done -

using -

(a) Apostrophe () 
(b) Exclamation (!) 

(c) Hash (#) 

(d) Ampersand (&) 

116. Gutter margin refers to -

(a) Margin that is added to the left margin when 
printing. 

(b) Margin that is added to the outside of the 
page when printing. 

(c) Margin that is added to right margin when 
printing. 

(d) Margin that is added to the binding side of 
page when printing. 

(b) gh 
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(c) itcgH 
(d) gd 

113. HyH. yGHT (MS Excel) A1 

(a) A1 -E20 

LoA: E20 
(c) Al; E20 
(d) A1. E20 

) View > Function 

V6) Insert > Function 
oY Formal > Function 

(d) Formulas > Function. 

(MS Access) 

115. HyH. yÀ (MS Excel) , E I HU 

(b) yNGeH () 
(o) Áy (#) 
Ors (&) 

20 T GI 



117. Which feature of Microsoft Word helps in 

119. 

120. 

creating list? 

(a) Word Wrap 
(b) Bullets and Numbering 

118. Press 

[A] 

(c) Scaling 
(d) None of the above 

window in the MS Word document. 
(a) FI 
(b) F2 
(c) F9 
(d) F11 

chart is MS Word. 

(a) FS 

(b) F7 

(c) F9 

(d) F11 

cells. 

... function in MS Excel 
represents the total number (s) of entries in the 

(a) SUM 
(b) AVG 
(c) TOTAL 

(d) COUNT 

121. If a website is developed using PHP, MySQL 
and HTML, then what will be the type of website 

developed? 
(a) Static 
(b) Dynamic 
(c) Flash 

(d) None of these 

122. Which of the following is the best site for 
Encyclopedia? 

to open the help 

(a) Wikipedia 
(b) Bing 

key is used to create 

(c) Yahoo Answers 

(d) Google 

(a) qe t (Word Wrap) 
gie qug TaT (Bullets and Numbering) 

(c) FbfeiT (Scaling) 

118. AyH. gÉ (MS Word) IA og fat 

(b) F2 
(c) F9 
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(a) FS 
(b) F7 

(d) F11 

120. HH. Hd (MS Excel) 

(a) SUM 
(b) AVG 
(c) TOTAL 

cÔUNT 
121. �f& èuIGE PHP, MySQL siN HTML 1 

(a) fc 

zut (key) *I yarT f 

(c) veT 

(a) fafbifUI 
(b) faT (Bing) 
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123. IP address in IPy6 is of. 

[AJ 

bits. 

(a) 32 

(b) 64 
(c) 128 

(d) 16 

124. The first 
address is the address of manufacturer of NIC 

card. 

(a) 2 

(b) 3 

(c) 4 

(d) 5 

(a) Period 

125. Which of the following operator can be used, 

when we want to find a specific word and a 

synonym for that word in Google Search engine? 

(b) Minus 

(c) Quotations 
(d) Tilde 

96656 

l20. What purpose do bookmarks serve? 

696656 

(a) To save the document in a specific loçation 

bytes of MAC 

(9YTo save a website'stÜRL for future reference 

(c) To use the documeor search T 

(d) To save alignments as it is 

known as -

127. Verification of a login name and password is 

(a) Logging in 
(b) Accessibility 

(c) Configuration 
(9Y Authentication 

696656 

123. IPy6 P Y$H 

(a) 32 
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(b) 64 

(c) 128 

124. 5 (MAC) YSH 

(a) 2 

(b) 3 

(c) 4 

125. sG H TIM 

(a) ifrus 

(c) tèI 
(d) feos 

fery 

(a) f 1 
(b) yatfifafae 
(c) fRpT 

(NIC) HIS 

ONUney 

eesessesess 



128. What is the work of a cookie? 
(a) Stores the commands used by the user 

(b) Stores software developed by the user 
(c) Sfores information about the user's web 

activity 

[A] 

(d) Stores password of the user 
129. Which one of the following is not an 

App/Website for both train ticket and flight 
booking in India? 
(a) Goibibo 

(b) redBus 
(c) Paytm 
(d) Ticket new 

130. Consider the following events and arrange these 
in correct chronological order starting from the 
earliest to last activity -
() ARPA 
() wwW 

(II) Hypertext 
(IV) TCPAP 
Select the correct option from the code given 
below -

(a) (V), (I), (1), () 
(b) (I), (), (IV), () 
(C) (I), (IV), (I), () 
(d) (), (I), (TV), (I) 

131. Unsolicited email messages sent for commercial 
purposes is known as -

(a) Bulk mail 

(b) Reverse mail 

(c) Spam mail 
(d) Gmail 

132. To send the copy of an email to a new user is 
known as -

(a) BCC 
(b) CC 
(c) Reply 
(d) Forward 

129. ffitg f qu/}4HI^T , t 

(a) gfaa (Goibibo) 
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(b) ge (redBusky 

(c) tey (Paytm)& 

130. fafcfgd geTCR fAR Y TT 

() ARPA 
(II) WwW 

(I) Hypertext 
(IV) TCP/P -

(a) (IV), (I), (), (T) 
(b) (I), (), (IV), () 
tet , IV), (II), () 

(a) Gocp 
(b) fRagi ta 

(Tickéfhew) 

(d) (I), (), (V), (Q) 

(d) r 

(a) BCC 

(c) Reply 

6g6656 

(d) Forward 
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